

example in \mathbb{R}^3

$$\begin{aligned}
 A^0 &= \text{Span}(\psi_0), \psi_0(x) = 1 && 1 \\
 A^1 &= \text{Span}(\psi_1, \psi_2, \psi_3), \psi_i \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = x_i && 3 \\
 A^2 &= \text{Span}(\psi_{12}, \psi_{13}, \psi_{23}), \psi_{13} \begin{pmatrix} x_1 & y_1 \\ x_2 & y_2 \\ x_3 & y_3 \end{pmatrix} = \begin{vmatrix} x_1 & y_1 \\ x_3 & y_3 \end{vmatrix} && 3 \\
 & & \psi_{23} \begin{pmatrix} & \\ & \end{pmatrix} = \begin{vmatrix} x_2 & y_2 \\ x_3 & y_3 \end{vmatrix} \\
 A^3 &= \text{Span}(\psi_{123}), \psi_{123} = \begin{vmatrix} x & y & z \end{vmatrix} \cdot \det && 1
 \end{aligned}$$

$$A^4 = \emptyset \neq 0$$

$$\otimes: \mathcal{L}^k(U) \otimes \mathcal{L}^l(U) \rightarrow \mathcal{L}^{k+l}(U)$$

$F \otimes g(x_1, \dots, x_{k+l}) = F(x_1, \dots, x_k) \cdot g(x_{k+1}, \dots, x_{k+l})$
 Suppose F, g are in A^k, A^l respectively. Is $F \otimes g = A^{k+l}$?

A: $(\psi_1 \otimes \psi_2)(x, y) = x_1 \cdot y_2$. No. need a new " \otimes "

Def: if $F \in A^k, g \in A^l$, then the "wedge": $F \wedge g$ is

$$(F \wedge g)(x_1, \dots, x_{k+l}) = \frac{1}{k!l!} \sum_{\sigma \in S_{k+l}} (F \otimes g)^{\sigma} (-1)^{\sigma}$$

normalization factor \rightarrow
$$= \frac{1}{k!l!} \sum_{\sigma \in S_{k+l}} F(x_{\sigma_1}, \dots, x_{\sigma_k}) \cdot g(x_{\sigma_{k+1}}, \dots, x_{\sigma_{k+l}}) \cdot (-1)^{\sigma}$$

$$= \sum_{\sigma \in S_{k+l}} (-1)^{\sigma} F \sim \circ g \sim, \text{ where } \sigma_1 < \dots < \sigma_k, \sigma_{k+1} < \dots < \sigma_{k+l}$$

Example:

$$\begin{aligned}
 \text{In } A^*(\mathbb{R}^4), (\psi_{13} \wedge \psi_4)(x_1, x_2, x_3) &= (\psi_{13})(x_1, x_2) \cdot \psi_4(x_3) \\
 &\quad - (\psi_{13})(x_1, x_3) \cdot \psi_4(x_2) \\
 &\quad + (\psi_{13})(x_2, x_3) \cdot \psi_4(x_1)
 \end{aligned}$$

$\sigma \in S_3$, have $\sigma_1 < \sigma_2, \sigma_3 \sim$

- 1 2 3
- ↓ 6 6
- 1 2 3
- 1 3 2
- 2 3 1